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Account created successfully.
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Password already in use!
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Password changed successfully.
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Account name: <accountName>
Account ID: <accountID>

Current Balance: <balance>$
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Can not withdraw non-positive amount!
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Withdraw amount exceeds balance!
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<amount>$ withdrew successfully.
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Can not deposit non-positive amount!
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<amount>$ deposited successfully.
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Transfer amount exceeds limit!
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Transfer amount exceeds balance!
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Entered ID does not exist!
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Transfered <amount>$ to <accountName> successfully.

PU g U juio (jr0gd sl dy g jliel jl a2y 08 P 8y by JBD1 dzg jlade 3ol juio gl slz 4y asS
a4y aS il GSOb @i 285 64y Gy 1GS31g55 b g 0l 1auaus i)y aly Laguh dibgs suabe (Salgils

el 1y gl (S3lgils 10U g 10U gylgin (g pisin 6loud oS

S dalgs sls iulad pj pley 1al js ogiws ¢l ¢3S 3l b

Report of transactions:
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Received <amount>$ from <accountID>
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Transfered <amount>$ to <senderID>
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No more that <amount>$ each time!
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There is no limit to money transfer.
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Can not set non-positive amount to limit!
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Limit (<amount>$) set to each transaction successfully.
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Transaction limit disabled successfully.
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Invalid amount for interest!
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Interest changed to <amount>% successfully.
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Invalid command!
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